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MATHEMATICS v Time: 2 hours

READ THESE INSTRUCTIONS CAREFULLY

1. You havc been given this question booklet and a separate answer sheet. The question booklet contains 50
questions.

2. Do any necessary rough work in this booklet.
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklet.

HOW TO USE THE ANSWER SHEET
4. Use only an ordinary pencil.

5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER
YOUR NAME .
NAME“OF YOUR SCHOOL

6. Bydrawing a dark lin/ei inside the correct numbered boxég‘mark your full Index Numbe;y e School Code Number
and the three-figure Candidate’s Number) in the gri the top of the answer sheet.

it 5

7. Do not make any marks outside the boxes. .
8. Keep your answer sheet as clcan as poséiiale atd DONOT FOLD'IT.
9. For each of the Questions:1 — 50, four answers ar¢:given. The answersare lettered A,.8, Cand D. In each case

only ONE of the four answers is correct. Choose the correct answer.

10. On the answer sheet the correct answer is to be shown By drawing a dark line inside the box in which the letter you
have chosen is written. :

SOOI aie

f-23

Example b s pranial o S b
In the Question Booklet:

14. What is the area of a circle whose radius is 28cm?
A. 308cm?
B. 246%kom?
C. 616cm?
D. 1232m?

The correct answer is B (2464cm?)
On the answer sheet:

nIAHBHCI(DI m A CiitDn m IANB 1 CriDt lAIIBlICtIDI m AuBI1CHiD

In the sct of boxes numbered 14, the box with the letter B printed in it is marked.
11. Your dark line MUST be within the box.

12. For each guestion ONLY ONE box is to be marked in each set of four boxes.
This question paper consists of 8 printed pages.

Candidates should check the question paper to ensure that all
the pages arc printed as indicated and no questions arc missing.
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Which number is eleven million eleven

thousand and one?
A. 11011001
B. 11110110
C. 11101011
D. 11011 110

What is 989.985 rounded of to the nearest -
two decimal places?

A. 989.99

B. 989.00

C. 989.90

D. 990,00

What is the G.C.D of 36, 48 and 727

A 18
B. 144
C. 36
D. 12
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6. Whatis the value of % of ;— +%— % §—
A1l
B. &
C 13
p. &

7.  Whichofthe folloWing number is the square

1
—9
of2,5 7

ue of digit 3 in the

9. Whatis the value of 2(52 — 32) — 5 x 4'+2

42

ro Oy

A 11
B. 22
C. 33
D. 5.5

A family uses 3- 500 ml in the month of J uly

and August. How many litres did they-
consume?

A. 91.5

B. 90

C. 88.5

D. 93

10.
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. Which of the following is the next numberin | 185.

11. The area of a square is 676 cm®. What is
the sequence 2, 3, §, 8, 13, 21 twice its perimeter?
A. 31 A. 104cm
B. 33 B. 208 cm
C. 34 : C. 26cm
D. 29 D. 52¢cm
16. The table below shows the time table for a
12. Inthe diagram below line AB is parallel to bus from town A to town E? -
line CD. Line EF Town Arrival | Departure
Time Time
A 8:00am
F B _9:30 . 9:45 am
/ C 11:20 11:25am
A a/b B D 1:15pm .| 1:30pm
' E 2:45pm 3:00 pm
How long does it take the bus to travel from

A to town D.

B. 3 hrs 15 mﬁ;

Which of the followmg state
. Angle a 1s altematlve to

Which of the follawmg statements xs
abouta trapezxum b

B. Diagonals bisec!’ﬁ*right angle.”
‘C. Has one pair of pasallel lines. s

19. A farmer harvested 3.5 tonnes of rice. He

14. Three street lights lights at an interval of 6 repacked the rice into 2.5kg. How-many

min, 8 min and 12 min. If they all started at - packets did he get?

8:05am, at what time will they light together A. 140

again? B. 1400

A. 8:29am C. 14 000

B. 8:53 am D. 140 000

C. 9:29am

D. 9:53 am
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20. Ochiengsold goods worth sh 450 000 if he
was given a 5% commission of all the sales,
how much did he get?

A. Sh.25000
B. Sh.2500

C. Sh.24500
D. Sh.22500

21. Janeand Jackline shared some money in the

ratio 3:4. If Jackline got sh 3 000 more than

Jane. How much money were they sharing?

A. Sh.1200

B. Sh.1800

C. Sh.2100

< D. Sh.900

22. The figure below shows a right-angled

triangle.

aypp

If the square of the side markéd ais. 64 cm"’ 1

what is the area of the tr1angle'7
A. 120cm?

B. 1088 cm?

C. 544 cm?

D. 60 cm?

23.

A water tank was % full of water. When 60

litres were drawn from it, it became % full.
What is the capacity of the tank?

A. 120 litres

B. 180 litres

C. 240 litres

D. 300 litres

24. A map is drawn to scale 1:40 000. What is

the actual length of a road in Km represented

by 6¢cm.
A. 2400 B. 240
C. 24 D. 24

25. Okeyo bought the following itcms from a
shop.
2 loaves of bread for sh.90.
2Vskg sugar @ sh. 120
3-500ml packets of milk @ sh.60 per
packet.
3 bars of soap @ sh 145.
How much balance did he get after paying

sh.1200?
A. Sh.1005 B. Sh.195
C. Sh.185 D. Sh.1105

26. Whatisthe value of -
0.2(0.6 -0.4) + 3.2 x 0.2?

A. 0.04 B. 0.64
C. 0.28 D. 0.68
o 2% +4

27. Whatis the valueof x in -4=89

o 28 A group of five pupxls have a mean mass of

==5TKE If the first: fou% weighs 48 kg, 53 kg,
63kg and 64 kg. ﬂWhat is the mass of the
it boy? a
RS kg

C. 285kg

B. 63kg
D. 47kg

29. The diagram below shows a-square joined
to a quarter a circle.

_____ .+ ————
28ém
What is the area of the figure above?
A. 1400 cm? B. 2016 cm?
C. 3248 cm? D. 616 cm?
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30.

31.

32.

33.

- When an item is sold for sh 1 850 a

shopkeeper makes 7.5% loss. How much
should he sell to make 15% profit?

A. Sh21275

B. Sh2 600

C. Sh2300

D. Sh2 350

8 workers take 24 hours to complete a
certain job. How long would it take 12
workers?

A 8

B. 32

C. 24
D. 16

Which of the following statement is not true
about triangles?
A. Base angles of an iscoscéles triangle'are

cqual. :
B. Scalene triangles have two angles equal..
C. Equilateral triangles have all sides anul
D

. Two sides of a right angled triangle meet,

at 909,

The pie chart below shows how Kasee spegtﬁ y

his salary of sh 24 OOO g e

e

How much did he spend on savings?
A. Sh 4800
B. Sh 5600
C. Sh4000
D. Sh 3600

34.

3S.

Wanjira bought x mangoes, y oranges and
twice as much bananas as oranges and
mangocs put together. How many fruits did
she buy altogether?

A. 3x+ 3y

B. 2x +2y

C. 2x + 3y

D. 3x+2y

The table below shows the number of pupils
enrolled in a certain constitucncy in five
years.

Years | 201512016 [2017[{2018]2019

No of
pupils | 223212637 |2108]2962]2436

in which two consccutive ycars was the
enrollment highest?

A..2018 and 2019

B. 2016 and 2018
C. 2016 and 2017....
D. 2015 and 2016

. 36 ‘The triangle ABC below is drawn accurately.

37.

What is the sizc of angle ABC?
A. 60°
B. 110°
C. 50°
- D. 70°

A trapezium has its parallel sides measuring
11cm and 13cm. The perpendicular distance
between them is 9cm. What is its area?

A. 108 cm?

B. 96 cm?

C. 143 cm?

D. 126 cm?
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38.

39.

40.

41.

Construct a triangle ABC such that line 43. The figure below shows a triangular prism.

AB=4cm BC=5 cm and AC=4cm. Draw a
circle that touches points ABC. What is the
length of the diameter of the circle?

A. 8cm

B. 2.6cm

C. 10cm 5cm
D. 52cm :

Onesmus borrowed sh 200 000 from a bank 23 30c™

that changed a simple interest at that rate of 12cm E
4% per annum. How much interest did he
pay after two years. ) What is the surface area of the prism.
A. Sh.8 000 ' - A. 900 cm?

B. Sh.12 000 B. 960 cm?

C. Sh.16 000 C. 1020 cm?

D. Sh.4000 D. 930 cm?

— are to be arranged
What is the valu

in order from l;;e»%smallest to the largest.
Which is the mmct prder

The hire purch
Sh.32 000. Och:
the rest in equal
year. How muc

_ the ration mcrease" g - D. 30 m/s
A 45 N
B. 4@” e e T e e : ’*“«\hﬁgﬁ&m"
D. 34
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46.

47.

48.

How many days were there from 19th
December 2015 to 20* March the following
year? :

A. 90

B. 91

C. 92

D. 93

In the figure below line AB is parallel to line
CD.

56°

Q
42 D

(@)
m

A%

A}

What is the size of angle FEG?
A. 82°
B. 420
C. 56°
D. 92°

Which of the following represents the ratio
3:4 as a percentage?

A, 130%

B. 60%

C. 75%

D. 70%

49. Which of the following nets when folded to
form a solid that will form a triangular prism?
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50. The graph below shows Mumos journey from Kitui to Machakos at a distance of 120 km.

Machakos 12

100 —————— —F—+F

80

60}

Distance in Kilometres

20

Kitui

8.00a.m 9.00am 10.00am 11.00am 12noon  1p.m
Time

What was the average speed for the whole journey?
A. 30km/h

B. 60km/h

C. 24km/h

D. 120km/h
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